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R=30kQ, V=12V mj
V12

R 3000

=

=220, [ =30mA<Y uj
V=IR=003x220=66V, P=I?R~0.198W.

= 1.0k, Ry = 2.0kQ W Ho] R; =500Q A&, V =10V.

1000 x 2000
= 7Q eq & 1166.7 €2,
Ris o0 666.7Q, Req ~ 1166.7
10
= ~ 8.57mA,
© = 17667 o

V3~4.29V, Vi x571V,
I = 5.71mA, I,~ 2.86mA.

F3 2 474 A9
R=18kQ, V=24V o

& 276
P=—=—=032W.
R 1800

HA205W, B5H o2 1.0W 23 A%,

I3 1: TCR 4%
Ry = 10k at 25°C, a = 100 ppm/°C, T' = 85°C.

5
R(T) =10k [1 + 100 x 107% x 60] = 10.06k, I =-—— ~ 0.497mA.
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Ry =100k, Ry, =100k2, Vi, =10V, R,, = 1.0 M.
100 k€2 x 1.0 M€

o ~ 90.9 kS,
2lm = 700 kQ + 1.0 MQ
90.9
Vit = 10—~ ~ 476 V.
i 100 4+ 90.9

A 2°F

A A(x2), Hot 24 AF(< ), A= 24, A8k oHd sha.



